“Radiation that looks like a great evil in basically a design problem. Nuclear provides a clean base load
electricity that produces waste just a size of a coke can as compared to a coal fired plant that belches out
16,000 tons/year of CO2..”~ Stewart Brand

Questions-

-How are we going to meet our expanding energy needs,
particularly if there is a movement towards electric cars?

-What if the high capital costs of a nuclear power plant
were invested in renewable energies instead?

Dr. James Hansen, Director at NASA Goddard Institute of Space
studies, proposes that renewable energy is still very expensive and
doesn’t provide consistent base load energy. The current second
generation nuclear plants have technical problems that third
and fourth generation reactor designs can overcome...




